ESlkel PSR
FEAY SEMA (et
D NAEEAR d01EtR = CHe &)
SA - ZE - BR(3) - HRA - B of v e HIDE2
PSRy 10,254,296 13,187,966 A2,933,670
= 127,119
[ 2,461,128
= 7,606,049
FE4Y SEMA 2eH(LS3 Y A 10,191,110 13,131,943 A2,940,833
= 127,119
= 2,461,128
= 7,602,863
AZEAME dEIBHHE 1,408,847 1,408,650 197
= 127,119
[ 21,128
= 1,260,600
HEStAIAE = & XA 7,800 8,730 2930
201 2egr=3| 4,800 5,730 A930
01 At22t2lt] 4,800 5,730 A930
T d=2392s 29 4,800
202 04l 3,000 3,000
01 =LHA LI 3,000 3,000
Od2J18 gRFa 3,000
CHISMRIDI 25 387,287 387,287
405 KHoHF S| 387,287 387,287
01 L ESFSHI 387,287 387,287
OtISAIRIII 25 387,287
HEANRE AZEAN 2= 420,556 404,679 15,877
201 =3 420,556 404,679 15,877
01 At22t2lt] 420,556 404,679 15,877
OHIMNEE 2ZEF 0 420,556
st=EASEEHER 2SN 171,809 161,124 10,685
201 Ler23| 171,809 161,124 10,685
02 s5=34l 171,809 161,124 10,685
Ost=NAEE2MER Al 171,809
H2FAAS SIPC NH 36,900 38,540 1,640
201 ZBt=3h] 36,900 38,540 21,640
01 AtR2t2|HI 36,900 38,540 1,640
OSM=7 & E2H| 36,900
HESAMEXRDID| XNHA(2D) 254,239 308,334 AB4,005
= 127,119
S 127,120
201 er23 | 1,400 2,000 2600
= 700
== 700
01 At2teltl 1,400 2,000 A600
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2A:

B HOAY ST UsHUNDIHE/LHHE)
Selr XNAZEAMS dED/g = EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 21,000
=S 21,000
CIXg da2st W(20HEEXR) 83,000 57,700 30,300
201 Ler23 | 88,000 57,700 30,300
01 AtR22telHI 88,000 57,700 30,300
OtINE agdst s =8 88,000
Cxgas =& 2,925,829 5,957,724 A3,031,8%
[ 2,440,000
= 485,829
MG arels JIgk CIXE &8 +& 150,000 50,000 100,000
201 2egr=3| 50,000 30,000 20,000
2 35244l 50,000 30,000 20,000
OSE NUlA 2HE 2o 2= 50,000
207 ARl 80,000 80,000
02 MAHHZHI 80,000 80,000
OSg MHIA S8Z 28|18 = 80,000
308 AtXIEMSOIE 20,000 20,000
18 SIS0t HAS A 20,000 20,000
Okd =4 SY NHIA SHE 29 243t
A& 20,000
AOIEYRIX 28 ¥ &4 Arg (= 1) 2,698,000 5,822,000 A3,124,000
= 2,440,000
=S 258,000
403 XIS AH=01H 2,698,000 5,822,000 A3,124,000
= 2,440,000
== 258,000
01 AXIEHHA= 2L 2,698,000 5,822,000 A3,124,000
OANIEYCIX 258 X SHAALY 1,118,000
= 1,040,000
< 78,000
oYY ADIE B2EH 7= 1,580,000
[ 1,400,000
= 180,000
ZEE AN HELEH =4 67,829 85,724 A17,8%
308 XXM SO0l 67,829 85,724 A17,8%
01 XN B2 LS 67,829 85,724 17,895
ZEE dAA e HEHH &8 15,000
OHEHH 22Xt |4 52,829
CIXEde Atg=a 10,000 0 10,000
201 fer=3| 7,000 7,000
01 AtR2te|bl 7,000 7,000
OtXNEds s ¢ A9 22 S 7,000
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SA - ZE - BR(3) - HRA - B of v e HIDE2
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
OLIXNEde HRFH 3,000
ol sS4 8y =X 36,700 70,000 33,300
SUIOIH 2AA =& 32,700 66,000 133,300
201 et2 3| 30,000 63,000 33,000
01 AtR2t2|HI 30,000 63,000 /33,000
O=IUIOIE 24 £58 &Y 30,000
202 04| 2,700 3,000 A300
01 =LHOLI 2,700 3,000 A300
O=HIOIE 24AY &2 =& 2,700
S3OI0IE e & 283 =4 4,000 4,000
201 er23| 2,500 2,500
01 At2teltl 2,500 2,500
SSU0IH 28 & 243t s S 2,500
202 04dl 1,500 1,500
01 2L AL 1,500 1,500
OSEU0IH Y & ol588st =4 1,500
HIAAY = 1,315,627 1,454,385 A138,758
HHANAE 2 1,197,627 1,346,385 A148,758
201 2= 767,402 889,575 A122,173
01 AtR2t2lH] 767,402 889,575 A122,173
OZEANAE SERAE 729,332
OYHEE FXl2el 38,070
202 04l 3,370 3,370
01 =LHOHI 3,370 3,370
OYI ALY HRFN 3,370
308 AHAIEHMSOIE 426,855 398,440 28,415
18 SIS U B &4 XA AIE 426,855 398,440 28,415
O=2LIctAIAE =Xzl & 2EAI 93,546
033018t & Mol S+AIAE FX 2l 325,809
OXLHYSETHZAIAL AHE 2 7,500
C& SHOIN 28 & MbIA i 71,000 63,000 8,000
201 fer=23| 69,500 61,500 8,000
01 AtR2t2lHI 15,000 15,000 0
O"Al T2 20l A 15,000
02 s3=gHl 54,500 46,500 8,000
OZHOIXl =& 2cl 54,500
202 04| 1,500 1,500
01 SLHoIH 1,500 1,500
OZHI0IK 2 g2 =& 1,500
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Hlw

2,000
2,000
2,000
177,379
258,379
190,559
190,559

2,230
2,230
65,590
65,590

80,000
80,000
80,000

A 1,000
21,000
A 1,000
120,090

227,690

MEE
Ofl &k2h

45,000
45,000
45,000
940,484
436,974
436,974

1,502,484

7,000
7,000

75,100
75,100
421,410
421,410

350,000

350,000
350,000

300,000
300,000
300,000

2,000
2,000
2,000

2,038,200

341,800
328,800
313,800

Ofl &F2H

47,000
47,000
47,000
47,000

1,769,863
627,533

1,198,863
627,533

63,100
401,633

152,000
9,900

900
7,000
7,000
7,000

77,330
77,330
77,330

487,000

487,000
487,000

350,000

350,000
350,000

350,000
220,000
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1,000
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2,188,290
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DA HBEEUDY
M HEAY SHMH LHLES 3T /JEIEET)
ol 2SI 2= EER=E)
SA - FE - S9I(E) - HIRAY - BES ol &t e HIDE2
O-U FESHAE 2 MM 15,000
202 OH| 12,800 13,000 2200
01 2L AL 12,800 13,000 A200
OEHESUYR = 12,800
401 AIEHIZL R OHYI 20,000 20,000
01 Al&Hl 20,000 20,000
L= Faslo A8 D3t 20,000
405 Kt S| 169,990 169,990
01 ML ESHSHI 169,990 169,990
OL=F &3 Al 1&35t 169,990
Stes 22l = 1,422,000 1,340,000 82,000
201 L2 1,422,000 1,340,000 82,000
02 2324l 1,422,000 1,340,000 82,000
ostes el =d 1,422,000
FESASAY YR = 3,000 3,000
202 04l 3,000 3,000
01 =LHOLI 3,000 3,000
OHESCZAIY UHHR =8 3,000
ADHED|SAIEH| BIRSER =8 4,000 4,000 0
202 044l 4,000 4,000
01 AL 4,000 4,000
OIII|S4 &l QAYR =& 4,000
HE SAAIAE H5 e 159,800 209,400 A49,600
405 KHAHH SH 159,800 209,400 A49,600
01 ML ESHSHI 159,800 209,400 A49,600
OL= UERIZHl WA 159,800
FaZEI|E 15 575,954 610,500 A34,546
ADEZAIMHIA 29 575,954 410,500 165,454
201 =3 368,684 349,100 19,584
01 AtS2t2ltl 368,684 345,100 23,584
OADIEAMHIA 2HAAHE RXE= 368,684
308 XXM SOOI 63,270 61,400 1,870
18 BV 2SS & AET AL 63,270 61,400 1,870
OFQEESADIEAE FAE 24 - HIt 63,270
403 NI HSIH=01A 100,000 100,000
01 A= 2L 100,000 100,000
OAl At2| Xt OHMAIAE 15 100,000
405 XHAHE SHI 44,000 44,000
01 AL = FSF=H| 44,000 44,000
OFEESAIAE = 44,000
HY2AZHI(HESE D) (DIEHIIE}) 63,186 56,023 7,163
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A F2sEn
M HZRAZH(ZLSZ D) (OIEHIIE
el JI=2 3 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Jl=3H| 63,186 56,023 7,163
2A29 J1=23l 63,186 56,023 7,163
201 er23| 46,536 40,963 5,573
01 At2teltl 46,536 40,963 5,573
SEN2E AIR2ell 46,536
202 048l 11,550 10,260 1,290
01 2L AL 11,550 10,260 1,290
SAEE UL 11,550
203 =] 5,100 4,800 300
M EASHLRFAH 5,100 4,800 300
OFA2E FR=HI(312 014)
425,0002 123 5,100
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